
La	
  Transformada	
  de	
  Fourier	
  de	
  una	
  
señal	
  discreta	
  es	
  siempre	
  periódica,	
  
de	
  periodo	
  2pi	
  (mirad	
  siguiente	
  

transparencia)	
  

Claramente	
  estamos	
  hablando	
  de	
  
una	
  periodicidad	
  en	
  frecuencia	
  

(Omega)	
  	
  



Periodicidad	
  TF	
  discreta	
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Claramente	
  estamos	
  hablando	
  de	
  
una	
  periodicidad	
  en	
  frecuencia	
  

(Omega)	
  	
  

Respecto	
  al	
  +empo	
  (n)	
  una	
  suma	
  de	
  
exponenciales	
  complejas	
  no	
  

siempre	
  es	
  periódica.	
  	
  


